
Chapter 2 & Chapter 3 



 

Translations, rotations, and reflections are 

all rigid transformations. 



An isometry is a translation, rotation 

or reflection.  



 

Component form is written as 𝑥, 𝑦 →
𝑥 + 3, 𝑦 − 5  



 

If triangle ABC is congruent to triangle 

XYZ, then segment BC is congruent to 

segment ZX. 



 

If Quadrilateral 𝐶𝐷𝐸𝐹 ≅quadrilateral 𝐻𝐼𝐽𝐾, 

then ∠𝐸 ≅ ∠𝐽. 



What does the acronym CPCFC stand for? 



∆ABC is congruent to ∆ XYZ. 

List all of the congruent corresponding 

parts. 

∠𝐴 ≅ ∠𝑋 
∠𝐵 ≅ ∠𝑌 
∠𝐶 ≅ ∠𝑍 

𝐴𝐵 ≅ 𝑋Y  

𝐵𝐶 ≅ 𝑌𝑍 

𝐶𝐴 ≅ 𝑍𝑋 



Draw the image of ABC after the given combination  

of transformations. 

 



Draw the image of ABCD after the sequence 

of transformations. 





Are figures ABCD and A’B’C’D’ 

congruent? Explain why or why not. 



Are figures CSMT and C’S’M’T’ congruent? 

Explain why or why not? 



Q𝑢𝑎𝑑𝑟𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙𝐺𝐻𝐽𝐹 ≅ 𝑄𝑢𝑎𝑑𝑟𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙𝑀𝑅𝐿𝑇 

List all the congruent angles: 

 

 

 

 

List all the congruent sides: 

. 

 

  

 



 Find the value of w:  

Find the value of X: 

Find the value of z: 



Given: 

𝑄𝑢𝑎𝑑𝑟𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙 𝑀𝑁𝑃𝑄 ≅ 𝑄𝑢𝑎𝑑𝑟𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙 𝑅𝑆𝑇𝑈; 

𝑀𝑁  ≅ 𝑃𝑄.  

Statements Reasons 




